. Leukopoiesis leads to the formntion of | 1 e gl B2iEn ﬁtrhmﬁ 7

(A) Granulocyte, Lymphoceyte,
Monocyte

(B) Erythrocyle, Lymphocyte, EATE
Monocyte _

(C) Monocyte, Granulocyte,
Erythrocyte

(D) None of the above

[F) Not attempted

. The deficiency of Vitamin D causes
(A) Goitre (B) Rickets

(C) Beri-ben (D) Scurvy

(E) Not attempted

.  Which of the following converts
inactive prothrombin into active

thrombin in the presence of calcium
ions ?

(A) Hepanin

(B) Thromboplastin

(C} Fibrin

(D)) Fibrinogen

(E} Not attempted

+  Which is an anticoagulant preferred
for Complete Blood Count (CI3C)
determination P

|A) Heparin

(B) Sodium fluoride

(€) Dipotassium EDTA

(D) Sodium citrate

(E) Not attempted

- allows you 1o input
commands without typing long strings
of characters or navigating menus or
dialog boxes.

(A) Enter key
(C) ESC key
(E) Not attempted

M) CTRL key
(D) Function key
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() AR, Feromtames, vivimre

(1) RIS, fomsimmgz, dre

(C) TSz, feitensz, e

(D) I9F F & w74 B

(E) 3mwenfam

(A) T W) fidzn i

(C) -3 (D) T
(E) 3mmftm

. Freafefam & # S e s

1 Ifeafa i fafrg s 5 gfe
wifeam 3 uftaffa ax 2 ¢ o

(A) wrfe

(B) wrETenfiz

(C) wrsfam

(D) wrEfETEe

(E) smwaisa

. WPl T8 FrdE (A an, ) faakon &

femw, waiday e Qo w)a-m & -
(A) B

(B) #fem wsinez

(C) TETREPm §4 A v,

(D) 7ifaam wrgee
(E) 3o —

R Fta ) @)

= g fam fam mn #17 =0 zvoein <ian

1 Az fau fa wiz gge 0
3t 2dt # |
(A) Enter &1
(C) ESC
(E)

(B) CTRL®
(D) FaTH &)
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10.

(A) Kunchikal watersayis
(B) Nohkalikai waterfalis
(C) Barchipani waterfalls
(D) None of the abave
(E) Not attempted

A reduction below normal level in the
concentration of hemoglobin or red
blood cells in blood is known as

(A) Thalassemia

(B) Anemia

(C) Pneumonia |

(D) Sickle cell hemoglobin

(E) Not attempted

CG - MH23

6. Fom Frafrs ofy sy 3y 309 iy 7 € 2
A) e ¢ ) fazrima D
&) Fafma ) famfm B
(E) s

7. I ey s fr & o A R 7
(A) T fopam
(B) et ufig
(C) T§ T
(D) Wi¥Z &g
(E) smfam

B. Wmﬁa(g%’%%ﬁﬁ.)ﬁﬁ'c’@ﬂ
T e v (dE) TR

(A) The (13) e
(C) <TTet (D) =T
[E) 3amiaa

10. & # EWrea 7 T W TR
£ wiza ¥ G =14 Fa 6 ol

FHATA &

(A) derfifm %
AB) AT e
(O RELIER

(D) el #& Eeretfes

(E) swafaa
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ﬁ CG - M2,
11, ST 3 fay e

11. Chambet pressure I’ur mitoclave is ‘ g " N
(A) 50 I per square inch !  ufy . ™

(13) 10 1b per aqunre incly () 10 fz oy T #a

I L]
(C) 25 Ib per squnre inch %% (C) 251z nfy L ES
(D) 15 Ib per square inch b3 » (D) 15 g ufy o 34
(E) s

(I5) Not attempled

The famous ‘Bagh Caves' are locateel in 12. m Ty Tm'rf o 5 feorm 4
- "1 |

. (A) Chhnttisgarh (A) WFFT::,'
(B) Utiar I'raclesh (B) 37ty
(C) Jharkhand (C) Fme
(D) Madhya I'radesh (D) ey e
(E) Not attempled (E) 3wmfas

13. CPR stands for 13. Fﬂ‘ﬁam F g 2
(A) Cardio Protective Resuscitation (A) Trizq) WZ'EEEI fn_'_ a3
(B) Cardio PPulmonary Resuscitation W) TR Ty -';
(C) Cardio Primary Resuscitation (C) witEa T frafis -_!'
(D) None of the above (D) :{q'gqq H A W =4
(E] Not attempted (E) 3tyTifaa

14, is a specific charncter {'*ff)} e e i 4,
string that constitutes a reference to - il o & o i Wﬁﬂh’?;ﬁr N
a resource. . ]
(A) Simple Mail Transfer Protocol :;: g ;ﬁw
(B) Hyper Text Transfer Protocol e PIrEa
(C] Domain Name System (C) = 7 forew
(D) Uniform Resource Locantor (D) giwim o s
(E} Not attempted (E) 3w

15. Normal value of haemoglobin in 16. wfeanaii # demaifes =1 wer vm
AP (A) 12-18 g/dI
(A) 12-18 g/dl %
(B) 12 - 16.5 g/l ) 12-16.5 g/dl >
(C) 10-12 g/dl (C) 10-12 g/dl
(D) 8.5 -12 g/ (D) 8.5-12 g/dl
(£] Not attempted (E) e

D

4-
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16.

17.

18.

19.

20.

Wy =1 - , dy
Bt X = 1 i 2} anm [ [3) = &, then I
(A) 15 m 10
sk ) 25

(E) Not Allempted

Which of the l'l:llltming tests is
Performed by using @
fopnnls & FEDTA blood ?
() lematocrit

(C) Lipid profile

() Reactive protein

(E) Not attempted

.n“: vaccine W|ﬁfll i! m“ to Pfﬂﬂﬂi

tuberculosis is
(A) TD (B) TT
(C} DPFT (D) BCG

(E) Not attempred

Find the value of x.

(B) 15
(D) 9

(A) 11
(C) 7
(E) Not attempted

Who is the father of anliseplic

e —— L —

surgery ?
(A) Joseph Lister

(B) Robert Koch
(C) Paul Ehrlich
(D) Antony Van Leeuwenhock

(E) Not attempted
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CG -

16. Wrﬁy-r(x?+2l3mr13}-ﬁ,ﬁ1x'1

dy
i == »
(A) 15 (B 10
) 5 (D) 25
(E) e

58,0, W g i w0 AT
it 8 W-1F wiugr fay 7 & 7

(A) 3

(13) B2

(c) fafez =

(1) sl S

(E) 3waifaa

a7 T & wamg & ferg w1 i fadn ST
Rz
(A) TD

(C) DPT
(F) 3marfam

18.

(B) TT
@) BCG

(B) 15
(D) 9

(A) 11

€y 7

(B) swafea
20. TWEGE gdfi & wm e R 7

(A) Fras fore

(B) Tae &1

(C) Wil ufefa

(D) Gt 47 TEAR

(E) Wrniaa
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\ 4.
" \7 t;
S “ t - f. %; E - o~
i = 4 - -"l : \ ;I.r{r
% . q N - -
g o
araftw Falean o =

Fiyat aid kit should contain

(A) Antiseptics
(13) Scissors and forceps

(C) NHandages o 1;] J% -
% j-: 3

(D) All of the above
(15) Not attempted

which number will come in the place @ W??&%q: ‘lh?-:_:ﬁ W«ﬂ . ? )|

21.

22.
of question murk ? !9:3'_ 164, j%s it 3
108, 194, 185, 169, ? m):}gﬁ:r’&rxé*_ﬁ,
(A) 136 (3) 144 () 92 | | 144
C) 92 (D) 112 . D) 117
:E) Not attempled () aqmﬁ,-m l
23, Parasitcs with bile stained eggs arc @ e H fifs ‘3@ eSS 5 :;—\
(A) Anchylostoma duodenale (A) Fl‘mmm 1 5 |
(B) Trichuris Trichiura (B) gy e ;lllzila
(C) Giardia lamblia (C) ﬁmfg.m Ine
(D] Entamoeba histolytica (D) Tznir ﬁ;l! ﬁEI!H l
(E) Not attempted (E) mﬁm - '}5:}

- he only cell type present @ A § 4 =
24, Which are the only cell type presen B % 7 “"I:mnﬁlﬁmmfzt_

in normal semen 7 -HI | t
(A) Merozoa (B) Erythrozoa (A) tr{:lmm (B) st
(C) Sporozoa (D) Spermatozoa (C) TMr3ran (D} Elt_ﬁ‘I ‘l !
(E) Not attempted (E) Fwaiiaa SELE

25. Choose the mirror image of the | 25. frofefas e = Tt el o
following figure. —

—_———
i —

fm |
A - 1 - m_' m@ P m
o] m ﬁl ol | 1d

(E) Not attempted

D .

P~

S
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ﬁ 27.

28.

30.

(A) Disinfection
(B) Sterilisatign
(C) Antiseptics
(D) Asepsis

(E) Not attempreq

Which of the followin
of granulocyte ?

% is an example

(A) Lymphocyte

(B) Monocyte

(C] Neutruphil

(D) None of the aboye
(E) Not attempted

Jhajjar district of Haryana was carlier

part of this distriey

(A) Rohtak (B) Rewari
(C) Sirsa (D) Hisar
(IX) Not attempted

Which of the following is the job of
the receptionist at a clinic ?

(A) To welcome the patient

(B) To puide the patient

(C) Register the patient

(D) All of the above

(E) Not attempted

Total APGAR score 18

(A) 10 (8) 9
(C) 8 D) 7

(E) Not attempted

Download from www.MsEducationTv.com

=l

Friferiam & 4 g e
TR R 7 '

(A) forfiame
(B) WA

() =iftRe
(D) I | § =g T
(F) 3

wieaTm w1 g Fren e v fae

W Ul
(A) TFas (B) T@rgl
(c) o ) femm

(F) Fuqiaa
foe 71 & wr-m fsfas # foefRee =0

SR 7

(A) Tl &1 =TT wE

A (B) Tt =t Arteeta e

(C) it & dft T

(D) I @i
Fwafaa

()

27.

iy

29,
|

30. T u.4.51.0.3M. TR R

JAY 10 (B) 9
(C) B ) 7
(E) F9aTids
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31.

32.

33.

35.

A Constitution which can be amended
casily in the SAME wWay as {hay of
passing the ordinary laws is known as
(A) Written Constitution
(13) Unwritien Constitution EIAAE]
() Flexible Constitution &-}
() Rigid Constitition

(E) Not attempted

The causative agent of enterie fever is
(A) Proteus

(D) Salmonclla typhi

(C) Shigella

(D) Klebsiella

(E) Not attempted

Which of the followin g graph is in
circular shape ?

(A) Line chart  (B) Pie chart
(C) Histogram (D) Bar chart
(F) Not attempted

is a network that
connccts computers, mobile phones,
tablet, mouse, printer, etc., placed at
a limited distance.
(A) Wide Area Network (WAN)
(B) Metropolitan Area Network (MAN)
(C) Local Arca Network (LAN)
(D) Particular Area Network (PAN)
(E) Not attempted |

Which is an immediate medical 35.
assistance given to a injured person ?

(A) Medication

(B) Antiseptic

(C) First aid

(D) None of the above

(E] Not attempted

Download from www.MsEducationTv.com

32.

T T SR, A wh, dade, m,'
M=, anfe wt srgm ¢ |
(A) 13 YftEr e (257g,0.07.)

(B) Fgriferza vitm Jzad (v,
(C) ®ila ufta Jzas (VA.us. )

(D) e ufE e (fem.) ..
(E) Fwmfas |
e &Afad 1 se- iﬁ'ﬂaﬁ'ﬂﬁfm

e @ I R 7 %
() wrafaa fafse .

(D) I & # Fr§ 7 .
(E) Fvaraa
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36. W\ hl'['h mein]
In 3 .
Trades” 7 Called aa “Jack of all 36. fax ;1:1 % “mf ot R
(A) Ma f
) lru:""““”““ (B) Gold (A) Hrefrs e
37. Which of : e -
transport me T i the 7. Fiferfen # & y—ay Fafn whan =
SPoTt medium of Viprio cholern ? vt v & 5 .
(A) Stuarnt's Medium
(B) Alkaline peptone water (A) a7 H s
(C) Venkatraman Romakrishnan (B] 1 = 9=
Medium IC) 9%zt TRTH WA+
(D) None of the above S (D) 3% § | wré 5
3 ot attonpeind i () snrfas
38. The skeleton of the human head is 38. WA [ & e w1 wel T *
T:;I"L‘: — (A) Az m) e
cnma (B) Palatine 5
(C) Maxilla (D) Skull (C) &fdran (D} WIS
(E) Not attempted (E) KYponitn
39. The first milk secreted by the breast 39, H4 ﬂ B ATl VSl qﬂ LGkl t
::;'ﬂ éi:l: trum  (B) Primary milk - - =
5 i
(C) Fore milk (D) Hind milk (C) ¥a2u (D) T 39
(E) Not atternpted (E) Fqarsa
40. Animale with notoshont are called @ AR EE Eq __ wReME |
(A) Non-chordates (A) :ﬁ'l'ﬂﬁl
(B) Triploblasticans W) freirenfers "
(C) Chordates (C) THH ﬁ
(D) Invertebrates (D) MHIHE] :
(E] Not attempted (E) Faan=d
41. Which of the following bacteria grows [ 41, ﬁﬂfﬁf'.i?‘ﬁgﬂfﬂﬂ-ﬂ Aadifem aere i
in clusters ? ’ Iaa;ﬁ“"w 3 m——
(A) Pneumococci (B) Meningococci (A) q'F_lm‘liFIS_ (B) W{
3 i (D) Staphylacacci (C) F=EEE (D) =HEeisTan
(C) Streptorocc \
(E) FIAAA

(E) Not attempted
.9-
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& CC - Muy,
42. Increase in the pereentage of 2. :@h’—ﬂ & T K E[fz TRATH 2
neutrophil is called ' 1f2 )

A It
(A) Neutroeytosis A :qa-"mrrq E! -
of) Eosinophilia (8) VTR
(C) Neutrophilin % (€) %
(D) Neutrupcnia (D) =gzt
(E) Not attempted (F) 3romfam
43. SHEPE of NH, is s\
. | ’43.) NIL 1 370 2
(A) Trigonal pyramida| kot M;jm hﬂ'ﬁ'ﬁﬂ
(B) Square pyramida) (B) o fyufrém
(C)] Bent C
(D) Sec-saw :Dl 3?11 Fﬂg‘ -
(E) Not attempted (E: N;m&m
44. Which is the latera] and s
mall 44.
N er bone hﬁ‘maﬁtmﬂﬁﬂﬁ?—ﬁ??
(A) Patela 5om
(3) Femur (B) 6w
(C) Talus (C) 2&=
(D) Fibula () Frgen
[} Not attempted (E) 3miam
45. Monocytosis is observed in 45, WHmEgE I <&t =3 2
(A) Whooping cough (A) =l gfd 7 |
(B) Malaria (B) watfray i
(C) Asthma (C) Zm ¥
(D) Skin infection (D) w1 FHpu ® 4
(E) Not attempted (E) 3m7aniaa e
46. Il'ﬂin"x+ain'y=-;~.thm x?= 46. df2 sin"'x + sin* :-E,i’ﬁ x? =
A) O (B] Jl-y (A) O B) -y
(C] 1~y (D) ¥* (C) 1-y D) y?
(E) Not attempted (E) JmantéE
D -10-
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47. Infancy Period] in

(D) None Ufthﬂ ubﬂ\l’c
(E) Not attempteq

48. The skull consistg of how many

bones ?
(A) 22 (B) 42
(C) 28 (D) 32

(E) Not attempted

49, Ilypovolemia is a condition of
(A) Decreased heart rate
(B) Increased blood volume
(C) Decreased blood volume

(D) Increased heart rate
(E) Not attempted

so. 1t Xt _A BxicC

T % " e , then
cnsnc"-l+cut"-l+ac o=
A G c =
T
(A) = B) 7
Sn
Ll e
© (D) 0

(E) Not attempted

Escape of blood from the blood
vessels is known as

(A) Tachycardia

(B) Hemorrhage

(C) Bradycardia

(D) None of the above

(E) Not attempted

51.

Download from www.MsEducationTv.com

@ﬁﬁi
[13.5r%:

(A) %23 2T F it
(B) W 1 7man 4 g
Ae) T it 7 1
D) &3 [ 4 gfg

[E) 3mafha

0., 3z "“;’“2 i,

X 4+X

| .l

Bx=C &1

x% +1

A
— -
X

1 1 -
! —+cot™? = +sec”'C=

A B
A) 2
©
(E) 3txariaa
W aniew13t A @a w1 P,

HECTal & | EAIE
| (A) eFFemTTea %
(B) WaaH N
(C) AStRITEAT

(D) 3947 & | HI$ TE

(E) 3mwaniae

coscc

(B) >
0

(D)

1
51.

\
3,2\
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52,

53.

55.

56.

Which is the lonpest bone of arm ?
(A) Ulna (3) Radia) '

(C) Clavicle (D) Humeryg
Bl |

(I£) Not attempted

Which of the following g Spore
forming bacteria ?

(A) Shigella

(3) Clostridium welchi

(C) Staphylococeysg alureus ,
(D) E.coli

(E) Not attempted

Two discs of same Mmalerial ang
thickness have radij 02m and 0.6
0 Im.

Their moment of inertia about their
axes will be in the rqtjq

(A) 1:9 (B) 1:3
(C) 1:81 (D) 1:27
(E) Not attempted '

Which of the following is an example
of RNA Virus ?

(A) Paramyxovirus
(B) Pox virus

(C) Parvovirus

(D) Herpesvirus
(E) Not attempted

Which is the medial bone of the
forearm ?

(A) Ulna

(B) Scapula

(C) Clavicle

(D) Humerus
(E) Not attempted

52.

53.

CG-MHza
Tﬁmmmaﬁ?-ﬁl%?
| |
B
[C]aﬁﬁﬁﬁa ‘:D;ZI;:::
() 31wnfirg
Fre=fefig 4 3 -3
EIEL &3 T A
(A) fariren
(B) Fefefaany A
(C) Ri%eirFrrg 3o
(D) ¥. Frers
(E) 3waifem
A w2 AR virerd At wvafi
ﬁmﬁnzrﬁ.sﬁm.ﬁnﬁ*%l:ﬁzﬁg\‘r
%ﬂﬁaﬁtmmmwm
(A) 1:0 B) 1:3
(C) 1:81 (D) 1:27
(E) 3w

Pr=fafes 4 3 - WU, I
B TH I R 7

(A) Fufrstarms

(B) W Frawy iy
(C) TatamE P*'N

(D) TUTSERE

(E) 3Twamiea

6. I 9T I WAl wE F-H1 B 7

-12-
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(B) FHen @3
(C) Tfawa

(D) T
(E) arvarfim
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:Whlch type of Cultivatinn/ farming
18 also known as

Agriculture” 2

(A) Mixed farming

(B) Plantation rﬂl‘l‘l‘ling
(C) Subsistence farming
(D) Shifting cultivation
(E) Not attempted

“Slash anq Burn

59. How many phalanges are there in

cach foot ?
(A) 22 (B) 24
(C) 14 (D) 12

(E) Not attempted

60. Neurogenic shock is caused due to
(A) Spinal or head injury
(B) Internal bleeding
(C) Severe infection
(D) Severe allergy
() Not attempted

61. Freedom fighter Rao Tula Ram
died in
(A) Nepal (B) Burma
(C) Pakistan (D) Afghanistan

(E) Not attempted

Download from www.MsEducationTv.com

|

58. Wt/FM i farg e w5y AN
STEH F" F vy i ofy s A 2 7
(A) Tafam o

(B) &g w5+t

| 59. W& Uz § faay qrziel €1 2 7

(A) 22

(C) 14

(E) 3Tsanfam
60. =it wiw fames HIv 2ar 8 7

&) Tz &t vzt @ fag 71 412

(B) 24
(D) 12

(B) It @aamE

(C) ™t FHgor

(D) T Tes P

(E) ST9@riéa ;

| 61. AT #H1 TS g1 T A Jog

qES |

(A) =TE (B) =T

(C) urferaT (D) 3w

(E) I
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62. Which of the following is an exnmple 62. F=faftm 1 n Rag

=81 39Eft 2wy ang
of non-projecting visual aid 7 RARSIE Gy & 3 ™
(A) Flannel board (A) T L1
(B) Slide projector e (B) ¥=T133 mﬂ"
(C) Opaque projector S s (C) Imzsfi I,ﬂ-}\qz-(
(D) None of the abave (D) Iqj.jq:a LE: Eﬁfg EEdl
() Not attempted (E) Imarfiq
63. Number of bones in adult t ; o ; :
by 1 iuman 63. & U i 1 wsfaai £y ey 2
(A) 206 (B) 2213 AA) 206 (B) 223
[g) ::I{}f e (D) 216 (C) 203 (D) 216
i) Notattempted (E) 3twnfi
64. Insufficiency of food or fooq gap is 64. YISH &I FH 1 W saud Lt
chief cause of HIT 2 7
(A) Protecin cnf:l"gy malnutrition (A) TEA F= FITI
(B) lndiﬂ_ﬂ* deficiency disorders {B) 3mnfEa 1 =t A 21 g faon
(C) Nutritional anemia (C) vl Hani uHifrn
(D) Low birth weight (D) = o= T
(E) Not attempted (E) 3rwanfaq
65. The zonal research center of eastern | 5. BRA & fore ﬁ‘fﬁ Tﬁ”‘_ﬁﬁ"ﬁ
agro-climatic zone is situated at & &7 A IR
IR Fz fem R |
district of Haryana. = R i
(A) Karnal (B) Fatehabad 1A (B
(C) Jind (D) Hisar (C) iig (D) TeaR
(E) Not attempted - (E) JTw=fa ik |
OF b ey
66. Fall of hematocrit values are observed | 66. #2ifwe % Wi 1 Froaz Ta o 2
in ) . '
| (A) SienTaai |
(A) Polycythemia i 3
(B) Anemia & - "
emi
(C) Dehydration ) . N
(D) Congenital heart disease (D) =i mmq
(E) Not attempted (E) ST
D -14-
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67.

68.

70.

71.

Mn)
(A) Pnrumyxuviru::m Vi ®

(B) Smallpox yire.
(C) Togovirug
(D) Parvoviryg
(E) Not attempted

Who among t)e fﬂllnwing is the first
woman IPS to becomq the Police

Commissioner of G“fuzram =
Fcbruary 2022 ?

(A) Geelikn Chal.Id.hary
(B) Himanshi Dahiyq
(C) Kala Ramachandrap
(D) Sunita Devi

(E) Not attempted

Scalds are caused by

(A) Accident (B) Shock

(C) Steam [D) Friction
(E) Not attempled

On an average, the birth weight of
healthy babies doubles by

(A) 7 months (B) 9 months
(C) 3 months (D) 5 months
(E} Not attempted

Which of the following is an example
of non-verbal communication ?

(A) 1.;:cturt

(B) Shaking hand

(C) Discussion

(D) Telecommunication

(E) Not attempted

CG - MH23
67. W ORI amry F-m P 7
(A) Yot
(1) =17 oy
(C]ﬂ’ian A
(D) TR g,;ﬁ
(E) 3ramfim =
68. T=faflas #§ ¢ 7 qeeft wfeen
3é.fom, 8, o wralt 2022 % TEH H
g AT o ?
(A) s Sl
(B) femreh Zfean
(C) el THaz
(D) et g
(E)] ymanas
69. WrE____ wwmu Eare |
(A) e (B)
(C) ¥4 (D) =99
(E} 3I9aTHa
70. SR Rl Tt § o & W0d W
G e _ﬁf@_ﬁ_@gl

(A) 7 TR (B) 9 W&
(C) 3 ¥R D) 5 WA
(E) It

71. Frefafan 4 @ s-a T-difes @91
F T 5 R 7
(A) =T
(B) &Y fqam
(C) wiol
(D) TWER-.
(E) it
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Round Table

wg. Atthe Seconid

Conference in 1941, _ . 1
(hie reorgnniisation of the

|
quprrsict ‘ L
Punjal poundnries and the acparn
.r Amhala Division from Punjab.

of th |
(A) Sir willinm Nirdwood

(3) Sir Malcolm [Hailey %
(C) Sir Geollrey Corbert P
() Sir Aiguilles Rouges

(E) Not attempted

Which of the following Award is
started by Gavernment of India
to promote urban sanitation and

73.

recognise cxcellence performance in
environment sanitation ?

(A) Swachha Bharat Puraskar

(B) Nirmal Shahar Puraskar

(C) Nirmal Gram Puraskar

(D) None of the above

(E) Not attempted

74. Which is the unpaired cartilage in
larynx ?
(A) Thyroid (B) Corniculate
(C) Arytcnoid (D) Cuneiform
(E) Not attempted

75. Which of the following is not a
communicable disease ?
(A) Tuberculosis and Leprosy
(B} AIDS
(C) Malaria and Filaria
(D) Cancer
(E] Not attempted

72.

73.

74.

[A) T W e

(B) ﬁﬁamm

(CJ ﬁ‘fﬂmqm

(D) 37 & & = =7

(E) 3nmmiia

e ¥ g iy FR-i g 7

(A) TS (B) SR
(C) TfiEias (D) T

(E) 3rvaiiea E
o
75. ﬁﬂﬁmﬁﬁﬁ?ﬂiﬁmﬂwﬁ%?
(A) & U 3 F2 T
) W i
(C) waifear 3R wrEaiT
(P) HE
(E) ITTATRI
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76, i
- 19 n mnlwrm: thal is crented to 76,

Eenerate revenue for (i developer.

(A) Spyware (13) Adware

(C) Keylopgrers (D) None of the above
(12) Not nttempied

' E]
77. llemoglobin diluting fluld js % | 77.

(A) 0.5N Sulphuric acid

{B) 0.5N Hydrochloric acid l
(C) 0.IN Sulphuric acicl |
(D) O.IN Ilydrochlorc acid
(E) Not attempted

78. Westergren's tube js uscd for 78

determination of

(A) Erythrocyte Sedimentation Rate
(ESR]

(B] Packed Cell Volume (PCV)

(C) Red Blood Cell (RBC)

(D) Mean Carpuscular Volume (MCV)

(E) Not attempted !

79. A ——HCls as anetwork | 79,

filter and bascd on the predefined
sccurily rules, it continuously
monitors and controls the incoming
and outgoing traffic,

(A) Cookies (B) Fircwall

(C) Protocols (D) Gateway

(E) Not attempted

80. Public Health is also called as 80.

(A) Community Health
(B) Public Medicine
(C) Community Medicine
(D) All of the above
(E) Not attempted
-17-
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T
N T () it
('?3 Hr=imi ID]Wﬁﬁﬁﬂﬁ

(C) 0.IN Homits; vy
(D) 0.IN Tr3teeifs wfa=
(E) Jmmifim

TR T s Prafr & ferg st
=T ® 7

(A) 3R #REem T2 (§.0R.3T)

(B) %92 &% gty (d.#f1. )

(C) @ =72 Fer 3. ef,)

(D) ¥ Hiefwgen wfeqy (qa.4.4i.)
(E) 3

U e fheet & &9 9 &
e R i pdfvifer e frdi & anuR
T 4% HM atet 3R 91 T 2R T
SITAR 73R @ ¢ 3 Fafam s g )
(A) T (B) $rEETd

(C) Hrérwia (D) req

(E) v

AT EEA H i wa
AT & |

(A) m Slaz [
o, A

(D) 39T wf
(E) TR
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81. pil of the Cerebrospinal fluid (CSF) is | 81.
A) 7.3-7.4
(B) 70-7.8
(C) 7.2-7.4 EAAE
(D) 6.9-7.6 meeR |

82.

83.

84.

(E) Not nttempted

is nn exhaustive B2.
scarching technique where every

clement of a given list is comparcd
with the item to be searched.

(A) Lincar scarch

(B) Sclcction sort

(C) Bubble sort

(D) None of the above |
(E) Not attempted !

Which of the following indicates low 83
Birth Weight (BW) ?

(A) BW<25 kg

(B) BW =25 kg

(C) BW=>25kg

(D) None of the above

(E} Not attempled

Which of the following is the Extrinsic | 84. Pffsa i g fn-dfism Hram i ® 7 ‘

muscle of the tonguc ?
(A) Inferior longitudinal
(B) Transverse

(C) Styloglossus

(D) Superior longitudinal
(E) Not attempted

-18B-

CG - MH23

NGIETE WRe (503,07, ) pll 2
(A) 7.3-7.4

(3) 7.0-7.8
AC) 7.2~7.4

(D) 6.9-7.6

(E) Jwmfim

U TN9% | WA R,
<l el e 3 e o v e
A1 Wil <1 arelt g & <61 Sl 2 )
(A) S wd

(B) Toawm wid

(C) & Hie

(D) I94e T q FI3 R

(E) e

. Prefafas i 8 $R-11 9= F w5d 5

FH g1 SR ?

JA) BW < 2.5 kg

(B) BW = 2.5 kg

(C) BW>25kg

(D) IT4F 7§ H1§ &
(E) Ivataa

(a) 3P Af~regfe

(B) Fraad BigE
(C) RigA=ay O}5
(D) FiRfE s~

(E) i
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85. Abnoarmal incrense In urine volume I8
known as
(A) Anuria
(B) Oligunia
(C) Palyuria
(D) None of the nbove

(E) Not attempted

86. The output of the compiler is called
(A) Source code

(B) Data code
(C) Objecct code

(D) None of the above
(E] Not attempted

87. Who among the following is not

included in the member of health
care leam ?

(A) Nursing personnel
(B) Dietician

(C) Physician

(D) Surgeon

(E) Not attempted

88. Persons trained in medicine and

psychology are called
(A) Psychiatrist -
(B) Physiotherapist
(C) Dentist

(D) Surgeon

(E) Not attempted
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(D} 3%F % A+ 7l
(E) Iwarfaa
86. THREN F dFeqe dl
e AT R |
(A) |TH FIg
(B) 32 FI13
lclaﬁ%_ﬁwzaﬁm
(D) S9gad i & Frd =Tl
(E) 3mmiEa
87. Prefafum 7§ 9 wmea T@™ T F
e T mtE TE R 7
(A) T =T
(B) AER faguy
(c) lafeaw
(D} T

(E) 3w

88. TafFemmer ik vk 3 wfafdg
A H _ FE ST R |
_a) wAifafees
) Fefrdrin
(C) & Fafreas
(D) &
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89,

91.

92.

Community Ilealth can be achicved
through

(A) Safe Environment and Education
(B) Well functioning health system

und establishing reaponasibility
towards henlth

(C) Conlrol of communicable and
non-communicable disecases

(D) All of the above &
(E) Not attempted %
In Structured Query Language (SOL

to select all the data available it[1 a .

table, we use which of the following
SELECT statecment ?

(A) SELECT *.* FROM table_name;
(B) SELECT FROM table_name;
(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name:;
(E] Not attempted

Radio is an example for
(A) Visual aid

(B) Auditory aid

(C) Audio visual aid

(D) None of the above
(E) Not attempted

Which of the following is not the
phase of bacterial prowth curve ?
(A) Stationary phase

(B) Lig phase

(C) Lag phase

(D) Log phase

(E) Not attempted
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89.

90.

91.

CG-MH23

RIS T@mr 5 fras T e o
W AHAE ?

(A) TR gatam v faar B

(B) 3= TE A T W @ =
el 3t =g & ufa fidigd

(C) Haheew 3 Me-srrm Wi & fdam &

AD) 35g7a it

(E) Fmaifam

TEas 98 vie (sQL)H daa |
ITAEY W T 1 HET F & U Ry
fr=fafem 4 @ e SELECT Faa =
IR E 7

(A) SELECT *." FROM table_namc;
(B) SELECT FROM table_name;
(C) SELECT all FROM table_name;

(D) SELECT * FROM table_name;
(E) JysEida

s 3grem 2

(A) 379 WU W

(B) =4 | F

_IC) SRA-T=3 WIUA i
(D) Fwdaa 7 A 3§
(E) Fmafira

92. P=fefad 7 @ FF-w drawy afz o A

A TER 7 '
(A) R
(B) fom w3
(C) =1 &=
(D) &M %4
(E) Swarita
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94.

95.

dit
And mortnlity in

children below v
arn

(A) Acciden of oge ?

(13) Diarr} :
Thoen| dl&cnnh EiAE
(C) AIDS ES R
(D) Leprosy

(E] Not Btti!mptcd

Convert (0110)0; l%): o
hexadecimal Number. |
(A) (1BC),,

(B) (2BC),,

(C) (1AC),,

(D) (2AC),,

(E) Not attempted

Which is the medial ang larger bone
of the leg ?

(A) Tibia

(B) Patela

(C) Femur

(D) Radial

(£) Not attempted

The generation of erythrocyte is
called

(A) Hematopoiesis

(B) Thrombaopoicsis

(C) Leukopoicsis

(D) Erythropoiesis

(E) Nat attempted
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93, f*‘?fafmﬁim:,

94,

CG - MH23

=W St B T W F
TYA W AT IO R 7

= 1 v iy
(A) Tdzm

JB) Fiamm i
(C) vzm

(D) T= Ty
(E) Jmanfag
(0110101100), 71 Fewrefirrer wwm
e | b

(A) (1BC),,
(B} (2BC),,
(Cl (1AC),,
(D) (2AC),,
(E) Imafam

-

RERATARA:

- 1D
14 Ly

95, hﬁwmmmm r

(A) Rofemr
{B) W&
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97. Cerebrospinal fufd (CSF)

cxamination is cnrried oul in the

laboratory mainly for the diagnosis of

[A] Conjunctivitis

%
B) Meninpitis I
(B) & Eo

(C) Sinusitis
(D) Keratitis
(E) Not attempted

98. In Python, trying to add an clement
lo a full stack results in an exception

called
(A) Empty (B) Non-empty
(C) Full (D) Overfiow

(E) Not attempted

99. Revised National Tuberculosis
Control Programme (RNTCP) has
achieved nationwide coverage in
(A) April 2006 (B) March 2000

(C) March 2006 (D) March 2005
(E) Not attempted

100. The tern thrombopoicsis means
generation of
(A) Platelet
(B) Plasma
(C) White Blood Cell (WBC)
(D) Red Blood Cell (RBC)
(E) Not attecmpted
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(€] Aygmmsfey
(D) FRTsfm
(E) anmfyg
o G Tﬁ mﬁ Eaﬁﬁ:‘hﬁ
FRW Y i
H{ER 3097 fﬁn"& |
(A) Empty (B) Non-emp ty
(€] Ful (D) Overfiow
(E) 3w
99. T T araii Frd s
(3.8 ¥, 3 g RN/
Tl wa s e | _
(A) 311 2006 (B) 71 2000
(C) " 2006 () W 2005
(E) araagfya
100. UMY 7oz =1 a7 o
Fofor 2 4
) wiewr
(B) AT

(C) a3 =73 ¥t (z=g.41.H1.)
D] & =72 ¥ (aTAEL.)
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